Definition of a Quadratic Equation.

A linear equation in one variable is an equation of the form ax + b = c $(a \neq 0)$.

A linear equation in one variable is sometimes called a first-degree polynomial equation because the highest degree of all its terms is 1.

A second-degree polynomial equation in one variable is called a quadratic equation.



6.
$$3(x-6)(3x+1)=0$$

 $3=0$ or $X-6=0$ or $3X+1=0$
will rever $X=6$ $3X=-1$
 $x=-\frac{1}{3}$
Solving Equations by Factoring
7. $x(5x-9)=0$
 $X=0$ or $5X-9=0$
 $5X=9$
 $5X=9$



Important: The zero product rule can be used to solve higher degree polynomial equations provided the equations can be set to zero and written in factored form.

For exercises
$$8 - 21$$
, solve the equations. $\frac{1}{10} \frac{5^2 + 3(5) - 40 = 0}{55 + 15 - 40 = 0}$
 $8 \cdot b^2 + 3b - 40 = 0$
 $(b - 5) (b + 8) = 0$
 $b - 5 = 0$
 $b - 5 = 0$
 $b - 5 = 0$
 $b = -8$
 $1 \cdot 40$
 $5 \cdot 40$
 $10 \cdot 4r^2 - 17r = 15$
 $4r^2 - 17r - 15 = 0$
 $4r + 3 \cdot 5$
 $4r + 3 \cdot 5$
 $4r = -3$
 $4r = -3$
 $4r = -3$
 $4r = -3$
 $4r^2 - 17r - 15 = 0$
 $6r = 5$
 $5r^2 - 6$
 $7r - 6 = 5$
 $5r^2 - 6$
 $7r - 6$
 $7r - 6 = 5$
 $5r^2 - 6$
 $7r - 6$

12.
$$0 = 3t^{2} - 18t - 48$$

 $3t^{2} - (8t - 48 = 0)$
 $3(t^{2} - (t - 16) = 0)$
 $3(t + 2)(t - 8) = 0$
 $3(t + 2)(t - 8 = 0)$
 $t = -2$
 $t = 8$
 $t = -2$
 $t = 8$
 $t = 14. x^{3} - 81x = 0$
 $x(x - 9)(x + 9) = 0$
 $x(x - 9)(x + 9) = 0$
 $x = 0$
 $x = 9$
 $x = -9$
 $x = 0$
 $x = -9$
 $x = -1$
 $3x = -1$

13.
$$4n^{3} + 8n^{2} + 3n = 0$$

 $h(4n^{2} + 8n + 3) = 0$
 $h(2n + 1)(2n + 3) = 0$
 $n = 0$ $|2n + 1 = 0|2n + 3 = 0$
 $2n = -1$ $2n = -3$
 $n = -\frac{1}{2}$ $n = -\frac{3}{2}$
 $s_{0}(n \text{ sut}: [(0, -\frac{1}{2}, -\frac{3}{2})]$
15. $9m^{2} = 4$
 $9m^{2} - 4 = 0$

$$(3n-2)(3n+2) = 0$$

(a: M. of 2 squares)

$$3n - 2 = 0 | 3m + 2 = 0
3m = 2 | 3m = -2
3m = -2 | 3m = -2 | (2 - 2 - 2)
3m = -2 | 3m = -2 | (2 - 2 - 2)
3m = -2 | 3m = -2 | (2 - 2 - 2)
m = -2 | 3m = -2 | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2) | (2 - 2)$$

$$3d^{2} + (Ad - 5 = 0)$$

$$(3d - 1)(d + 5) = 0$$

$$3d - 1 = 0$$

$$d + 5 = 0$$

$$d = -5$$

$$d = -5$$

$$d = -5$$

$$d = -5$$

$$\int \frac{1}{3} - 5$$

18.
$$2x^{3} - 5x = 3x^{2}$$

 $2x^{3} - 3x^{2} - 5x = 0$
 $x(2x^{2} - 3x - 5) = 0$
 $x(2x - 5)(x + 1) = 0$
 $x = 0$
 $2x = 5$
 $x = -1$
 $x = \frac{5}{2}$
20. $3s^{3} + s^{2} - 12s - 4 = 0$
 $(3b^{3} + b^{2}) + (-12a - 4) = 0$
 $b^{2}(3b + 1) - a(3b + 1) = 0$
 $(3b + 1)(b^{2} - 4) = 0$
 $3b + 1 = 0$
 $b^{2}(2b + 1)(b^{2} - 4) = 0$
 $(3b + 1)(b^{2} - 4) = 0$
 $3b + 1 = 0$
 $b^{2}(2b + 1)(b^{2} - 4) = 0$
 $(3b + 1)(b^{2} - 4) = 0$
 $b^{2}(2b + 1)(b^{2} - 4) = 0$
 $3b + 1 = 0$
 $b^{2}(2b + 1)(b^{2} - 4) = 0$
 $b^{2}(2b + 1)(b^$

19.
$$6(a^2+2)=25a-2$$

 $(a^2+1)=25a-2$
 $(a^2+1)=25a-2$
 $(a^2-25a+1)=25a-2$
 $(a^2-25a+1)=0$
 $(a^2-25a+1)=$

21.
$$(k+5)(k+7)=3$$

 $k^{2}+(2k+3)=3$
 $k^{2}+(2k+3)=0$
 $(k+8)(k+4)=0$
 $k+8=0(k+4)=0$
 $k=-8(k=-4)$
 $k=-8(k=-4)$
 $k=-8,-43$